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SECTION A
Q. Q.
No. | a b c d | No.| a b c
1. | v 16.
2. | « 17. s
3. 4 18. s
4. | 19. | v
5 | v 20. Vs
6. 4 21. Vs
7. 4 22.
8. 4 23. | v
9. 4 24.
10. J 125 v
11. s | 26.
12, V4 27.
13. v 28.
14, s |29 s
15. s | 30. s
Not
X Y attempted

SECTION A 3X=-Y=
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SECTION B

CELL BIOLOGY / =hif3tent SAfereht (6 points)

31. (2 points)

32. (2 points)

33. (2 points)

a C.
Can be deduced / @A @mET <IT V4
AT 2
Cannot be deduced / sl |
T ST Hehell
PLANT SCIENCES / uTgq {3 (4 points)
34. (2 points)
a. b. c
True /&€l | 4
False / ed 4
35. (2 points)
a. b. c
True/ V4
Bl
False / v v
e
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ANIMAL SCIENCES / Stq f&&m (10 points)

36. (2 points)

Experimental conditions /

Temperature /

Effect

BIRICENID] SIECIE) Options / fa=ea : All Males (ar=®) / All
(Og)tions é foshed . | Females (@mcwmer) /Both males and females
28°C/30°C) (@t 7 3wt /Sterile females (aiter wmam)

Addition of aromatase 30°C All Males

inhibitor / smest 31ty &

LS

37. (2 points)

a b. C.
v

38. (2 points)

a b. C.
v

39. (2 points)

o

Can be concluded / fi=rd
Frepretr STERATR

Cannot be concluded / frerd ==t
IEEININSIR:CXIE

40. (2 points)
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GENETICS & EVOLUTION / A=ifTehY 3R 3fgerma (13.5 points)

41. (1.5 points)

a b. d.
42. (6.5 points)
(A)
Value of | for Dataset1/gcroe 1 & e 1 1AM : 0.464
Value of | for Dataset2 /2t 8e 2% el 1 1AM : 0.486
Value of | for Dataset4 /2 dc4 & el 1 1 HM ; -0.0188
Calculations / momT:
Set 1: (41-15)/56 = 0.464
Set 2: (55-19)/74 = 0.486
Set 4: (26-27)/53 = -0.0188
(B)
a. b. C e. g.
True / =&t 4 V4
False /mad | v V4

43. (4 points)
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iv. b

44. (1.5 points) Answer: _ 0.1

Calculations / Trorr:
81% show recessive phenotype
Hence,q=09andp=0.1

ECOLOGY / urftfRerferht (16.5 points)

45, (2 points)

a b.
v
46. (2 points)
a b.
47. (2 points)
a b.
v
48. (2.5 points)
a. C.
Can be deduced / 4

STIHT T SIT Wl &

Cannot be deduced / 4
SIAT TRl <HTET ST Eehll
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49. (2 points) Answer / 3t : 901

Calculations / mrr:
Secondary production = 20/100 x 300J = 60J
Respiration = 300 — (150 + 60) = 90J

50. (2 points)

a. b. C.
True/wdt | V4 v
False / et
51. (2 points)
a b. C d
v
52. (2 points)
a b. C d
v

*khkkkkkkk END OF SECTION B *khkhhhkkkk



